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1. FRMESAE T IEMEETFEN y=5.018x - 0.0462; x JFRHEMKE (mg/mL), y NG

1B

2. I %) CLIE AT

BT E X B mL s CGRD R8I~ 1ng RS € SO — RS 71547

CL %5 /7 (ug /min/mL)= [ 1000 X (AA+0.0462) +5.018xV JZ &1 ]+V FE+T =39.8x(AA+0.0462)

3. Y. AR AL CL S S

(D R EARETE

FAL Y E X B mg HEVE AR B AL AR Tpg H BT 8 SCN— AN IE T 5L

CL 7% /7(ng /min/mg prot)=[1000 X (AA+0.0462) +5.018xV Sz #](V FExCpr) =T
=39.8%(AA+0.0462) ~Cpr

(2) FFEAEEE T

BATHE X B g AR RMEIL 24 1 u g B ATREE SO —/NEFE 180 .

CL 7% /7(ng /min /g #£ E)=[1000 X (AA+0.0462) +5.018xV S ]=(Wx V #+V FER) =T
=39.8x(AA+0.0462) =W

(3) IR A e T

AL E X B 1 A AH R B M AR B A A 1w g AT E SO — NS 1A

CL 3% 7J(ng /min /10* cell)=[1000 X (AA+0.0462) +5.018xV JZ 1 ]+(500xV FE+V FES) T
=0.0796x(AA+0.0462)

1000: 1mg/mL=1000ug/mL; V &h: RIVAKR RS, 0.6mL; VA TIAFEARAEF, 0.05

mL; V FEi: IIASERGHEAARL, 1 mL; T: JBIES[E], 60 min; Cpr: FEANER IR E, mg/mL;

W: FEAFE, g; 500: 4HHE S48 %0, 500 J.
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1. FRAESAEIE FH T FEAN y =2.5090x - 0.0462; x NARAEFIKE (mg/mL), y NG

2. I ¥ CLIE AT

BT E X B mL s CGRD R8I~ 1ng RS € SO — MBS 71547

CL 3% /7(ug /min/mL)= [ 1000 X (AA+0.0462) +2.509xV JZ &1 ]=V FE=T =79.6x(AA+0.0462)

3. Y. AR CL S RS

(D B EARETE

FALHE X B mg HEVE AR B AL AR 1w g R &I E U — NS T 54T

CL 7% /7(ng /min /mg prot)=[1000 X (AA+0.0462)+2.509xV Sz ]V FExCpr)=T
=79.6x(AA+0.0462) ~Cpr

(2) FFEAEEE T

BALHE X B g BV BMELL 24 1 u g B ATREE SO —/NEEE J1 80 .

CL % 7J(ug /min /g £ 5)=[1000 X (AA+0.0462)+2.509xV [ M ]+(Wx V FE=V FEE)+T
=79.6x(AA+0.0462)~W

(3) IR A e

AL E X B 1 A AH R B M AR B A A 1w g AT E SO — NS 1A

CL 3% 7J(ng /min /10*cell)=[1000 X (AA+0.0462)+2.509xV I ]+(500xV #E+V B )T
=0.1592x(AA+0.0462)

1000: 1mg/mL=1000ug/mL; V &h: RIVAKR RS, 0.6mL; VA IIAFEARAEF, 0.05

mL; V FEi: IIAFERGHRAARL, 1 mL; T: JBIHS[E], 60 min; Cpr: FEANER IR E, mg/mL;

W: FEAFE, g; 500: 4HHE 40 8%0 500 J.
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